1) A B [A1], [B1]
” my 8 [B2..B51]
1 2 3 4 5 6 7 8 9 10
0 61 88 94 96 53 50 87 69 95 71
1 95 69 52 94 99 57 94 74 64 51
2 80 57 75 72 52 77 81 85 58 65
3 88 55 74 98 82 80 88 91 92 50
4 62 72 99 93 56 91 80 60 51 67
C 80 100,70 79,60 69,0 59
B
B
B A C
B
[B2] =if(B2>=80,"A",if(B2>=70,"B",if(B2>=60,"C","F")))
=average( ), =max( ) media , mode
A B C,F
frequency
59 [D1..E5] D2..D5
69 E2..E
” [E2] =frequency( ,D2..D ) Ctrl+Shift+Enter
100 [D2..E ]
Xpy X0 X, mean, var, S,
var, = XP Xt X mean’ s = var,
n
Excel =stdevp( )
Mathematica <<Statistics'Master
Mean[L], StandardDeviationMLE[L]
258.56 16.09
2) n (X0 Y1) (Xas Yo ) (X0 V)
CXV
mean, = X S, =X
mean, =y, Sy=Yi



S, =(x - mean)(y, - mean,) C, =3 ;y
x=y
1 2 3 4 5 6 7 8 9 10
X 97 69 | 94 84 54 | 69 58 | 57 75 61
y 85 68 | 74 71 58 | 66 61 | 72 78 53
Excel =covar( ) =correl
Mathematica X Ay B
CovarianceMLEJ[A,B], Correlation[A,B]
101.32, 0.76
3 n (X0 ¥1): (X1 Y2 )1 -es (X0 Vi) X
y=a+bx ab
S S
b= ny —= _Xé
S, S,
a=mean, - mean *b
(2,53), (3,67), (4,79), (5,88), (6,97), (7,107), (8,101)
Excel b = slope(y , X ), a=intercept(y ) X
Mathematica Fit[{{2,53},...,{8,101}},{1,x},x] X a+bx
8.64, 41.36
4)
p
f(x)=,C,p*(1- x)"* (x=012,...,n) n, p f (x)
=binomdist(x,n,p,False) =binomdist(x,n,p, True)
_m s
m f (X) = ze

=poisson(x, m,False/True)




xem?

e 2s 2

1
J2ps

f(x)=

/True)
Mathematica
PoissonDistribution[u ], NormalDistribution[py ,0 ]
dist PDF[dist,x], CDF[dist,x]

<<Statistics' Master’
Plot[PDF[NormalDistribution[0,1],x],{x,-3,3}]

N, 1)

( n = 30)

=normsdist(x,u ,0 , False

BinomialDistribution[n,p],

Plot

Excel
=normsinv(1l-a )

Mathematica
<<Statistics’Master
Quantile[NormalDistribution [0,1], 1-a ]
a =0.025 x=1.96

Excel
=chiinv(a ,n)
Mathematica
<<StatisticsMaster
Quantile[ChiSquareDistribution[n], 1-a ]
n =3,a =0.05 z=7.815




(-¥,7],[z, ¥)

fit)
o.

Excel
=tinv(a ,n)
Mathematica
<<Statistics' Master
Quantile[StudentTDistribution
[n], 1-a /2]
n=30, a =0.05 t=2.042




